Project Management Practice Problem 1
Name__________________________________________

1. Calculate the estimated times and variances for each activity below.

T=( A +4M + B)/6               V = ((b-a)/6)2

	Activity
	IP
	A
	M
	B
	Expected Time
	Variance

	A
	---
	6
	8
	16
	9
	2.77777778

	B
	---
	12
	16
	20
	16
	1.77777778

	C
	---
	8
	14
	20
	14
	4

	D
	ABC
	9
	20
	25
	19
	7.11111111

	E
	ABC
	7
	8
	9
	8
	0.11111111



8.888  sqrt = 2.98
2.  Fill out the following information for the project above.

	Activity
	T
	ES
	EF
	LS
	LF
	S
	CP

	A
	9
	0
	9
	7
	16
	7
	

	B
	16
	0
	16
	0
	16
	0
	*

	C
	14
	0
	14
	2
	16
	2
	

	D
	19
	16
	35
	16
	35
	0
	*

	E
	8
	16
	24
	27
	35
	11
	


3.  Draw the network.

4. What is the estimated time of completion of the project?

                     35 weeks
5. What is the critical path for this project?

     B-D
6. What is the probability that this project will be completed between 33 and 38 weeks? Z = C-T/(
        (38-35)/2.98=1.006 = .3413
33-35/2.98=.6711=.2486
.3413 + .2486 = .5899 = 59%
